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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191780
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819114102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819146821.

70819146822, 2

70819146823.

70819146824, -

Question Number : 1 Question Id : 70819114102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4

“9 x?

dx aAIRee el 26T :

-4
Options :
1=
70819146821, °
122

70819146822, 3

70819146823. 2

70819146824, -

Question Number : 2 Question Id : 70819114103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is 7. The sum of the cubes of its terms is :

Options :
el
70819146825, 1~
108

70819146826, 1°

M| 3

70819146827.

E
70819146828. 7



Question Number : 2 Question Id : 70819114103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6EIG gedlaa 696k 2N J9 TR A8 3 990 J9Iewa QeAIeEa A8 ded

(CYRC-2

JIeEe JeUeRIeEa A8 266 :

Options :
31
70819146825, 12
108

70819146826, 19

M| E:}

70819146827.

5
70819146828. 7

Question Number : 3 Question Id : 70819114104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819146829, F =P V4

70819146830, (P~ 9 =P

70819146831, P PV @) v (~9)



20819146832, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819114104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ge6a SN 699 AR ABE Y@ 9@ (ceTIeaIR) 2se ?
Options :

70819146829, F =P V4

70819146830, P9 =P

70819146831, P~ PV @)V (~9

70819146832, PV "P)~(q v (=)

Question Number : 4 Question Id : 70819114105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o '1

1
Y

ta | =

Let [a| <1, b|<1, [c|<1and x=} a",y=) b",z=) " [ are in Arithmetic

n=() n=() n={

Progression, then :
Options :

70819146833, & b and c are in Arithmelic ngression

70819146834, & b and c are in Geometric Progression

70819146835, & 2b and c are in Arithmetic Progression

i i iefvr 2=
70819146836, & P and c satisfy Zb==ac



Question Number : 4 Question Id : 70819114105 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o m o ]_
dQIRIR |a|<1, [b|<1, |c|<1 98" x= Y a", y=) b",z=) " @@
n=l n=() n=(

po

70819146833, & b 997 ¢ AAIRQ OGI6a 288

70819146834, & b 9%° ¢ gEdlaa Yeviea 2128

70819146835, & 2b 99° ¢ AAIaQ JAGIER UaT

20819146836, & P 99° ¢ @8 2b?=ac @ I @A

Question Number : 5 Question Id : 70819114106 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih‘nzl?nIS

is equal to :
n=1

n!
Options:

70819146837, 19e+5

70819146838, 19e—5

70819146839, 16€—2

: MCQ Option Shuffling : Yes Is

3 | =
]
|
(=5
=3
LCE)
=B
&3]

: MCQ Option Shuffling : Yes Is



70819146840, 16€—7

Question Number : 5 Question Id : 70819114106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- 2
—~ N“+7n+5 i
Y Qe 6208
= n!

n=1

Options :

70819146837, 12e+5

70819146838, 19¢—5

70819146839, 16€—2

! |

70819146840, 16€-

Question Number : 6 Question Id : 70819114107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819146841, 2

(o5

70819146842.

|

70819146843.

(=1

70819146844,



Question Number : 6 Question Id : 70819114107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 9 QIRE 600 Z9INe gda e gay aiR 100+ (3 x(4)2) +), 9 QIR U 266 :
Options :

70819146841, 2

[F5]

70819146842.

|

70819146843.

70819146844, 1

Question Number : 7 Question Id : 70819114108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819146845, 455

70819146846, 421

70819146847, 435

70819146848, 41

Question Number : 7 Question Id : 70819114108 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 971099 Q6RIE QAR 6a% QdeR 4,5 99° 60 QQ 22 | 99 4§ QI 6l 0l AR QIS

!
6aled 626 0@a q98 8 9% G 6Ad den el 6@ad 3§ §Q Y@ CARRY RUR 26F6
QaE (99 60H1A G64), 666@ 0R 3§ @0 A 620 68 QAR YRAIRER QI 26C :

Options:

70819146845, 435
70819146846, 421

70819146847, 435

70819146848, 41

Question Number : 8 Question Id : 70819114109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ax - b )
Ify= —4] has an extremum at the point (2, —1), then the values of a and b are :

(x—1)(x
Options:

70819146849, a=1, b=0

70819146850, 2= b=1

70819146851.

70819146852, 2= ~ 1. b=1

Question Number : 8 Question Id : 70819114109 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) i ) ) i
ﬂ@]f=?—%%Flz§a,@Q{l~ﬂjOG&&@Q?&NEE,@MQa{@”baﬁywaﬁg:
X X :
Options :
70819146849, @=1, b=0
70819146850, 2= b=1
70819146851, a=0, b=-1
70819146852, 2~ ~ 1. b=1

Question Number : 9 Question Id : 70819114110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thedﬁﬁnaﬂxﬂ#&mthephnm;?-{2}Ij 2}’|5=0 mul?-lﬁlej 6}.I2=Dis:

Options :
5
70819146853, 19
15

70819146854, 4

70819146855,

70819146856.



Question Number : 9 Question Id : 70819114110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q69 90 T- (27 +7-2k]+5=0 < T- |67 +37-6k)+2=0 9260 96Q 268 -
j j

Options :
2
70819146853, 19
15

70819146854, 4

70819146855,

70819146856.

Question Number : 10 Question Id : 70819114111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
5

The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819146857, 20

70819146858.

70819146859, 20



b

70819146860. 2V

Question Number : 10 Question Id : 70819114111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" 5 " S .
9866 @ 999 966 219 X <" Y QI8 QAP A6RIR AANG! GAF6EA 7 6 = 265 | 48

9459 aAIe QA6 Il 9RG JRIIP QISR 698 Qa3 6066 0Q Ade Il g4 aaIe
CRIREQIR ARSI ZEE

Options :
7

70819146857, 20

70819146858.

70819146859, 2U

12

70819146860, 2

Question Number : 11 Question Id : 70819114112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R is c-qual Lo :

The polar form of the complex number
1—i

Options :

—_— —_—

cos — +1i sin—
" "
70819146861. e e



w w

Cos ——1sin—
2 2

70819146862. = <
cns'—rr F i .'?»inE

70819146863,  * '
cos L [ .'aini

70819146864. ' '

Question Number : 11 Question Id : 70819114112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A4 (@°eqe) a°a i Q1S (6AIRNIR) QT AR 62Q8 :
1—i ' .
Options :
cnsz | z'ainT—'
) )
70819146861. = =
cos ; i sin%
70819146862. 5 -
COSE [ isini
70819146863. :
cos L { .'?»inE
70819146864. '

Question Number : 12 Question Id : 70819114113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819146865.

70819146866. -

e

70819146867.

==

70819146868.

Question Number : 12 Question Id : 70819114113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QAAMRRET ax=7 89, 6669 a & QA1 AR 6067 :

Options :

2
70819146865. ~

70819146866. -

70819146867, *

70819146868,

Question Number : 13 Question Id : 70819114114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2v =0 with respect to
the line x+y=2, is :



Options :

2 2-— i . 4 e
70819146869, ¥ TV ~2xtdy+3=0

-
i

x -+-l.r2—--1x—2y+-1=[]

70819146870.

Va2 b gy 2} — - s
70819146871, 2~y —x+y+1=0

o 2 ST, T al
70819146872, © tY¥ 24y +3=0

Question Number : 13 Question Id : 70819114114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+y=2 608 @A, X+ —2xr=0 90 goaa QATa A8 6T :

Options :

-2 2-— e . - —_
70819146869, X Ty —2x+4dy+3=0

-

2+ P —4x—2y+4=0

70819146870.

Wil ad o ggd e -
70819146871, 2 ty) —x+y+1=0

L UL S Y
70819146872, ¥ T¥ ~2x—4y+3=0

Question Number : 14 Question Id : 70819114115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(x+1)% 2

22

I U ,,) =1 and the circle

Equations of the common tangent of the ellipse =

(x+1)2+(y—1)>=4 are :



Options :
70819146873, ¥+3=0 and x=1=0

70819146874, ¥ ~3=0 and y+1=0

70819146875, X¥*+3=0 and x—1=0

y-+-3=[] and Y- 1=0
70819146876.

Question Number : 14 Question Id : 70819114115 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(x+1)°  (y-1)°
3 | 3?

2

=4 Q QRIRE WA

Q1998 (aFoq) =1 499" 99 (x+1%+(y-1)
AMNQREE @ 26E
Options :

1: I"-'|::' " — ==z
70819146873, Y 1370 W@ x—-1=0

r—3= q4o° y+4+1 =
70819146874, ¥ °=0 9@ y+1=0

70819146875, ¥ +3=0 9&* x—1=0

70819146876, Y T3 =0 49" y—1=0

Question Number : 15 Question Id : 70819114116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

l a
If A= {” J , then Ak (keN) is :



Options :

70819146877.

70819146878.

Tk ka
0 k

70819146879.

1 ka
0 0
70819146880.

Question Number : 15 Question Id : 70819114116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 1 a ,
QG:E:L] J,G@&?AL&EN]KEQ:

Options :

70819146877.

70819146878.

k ka
0 k

70819146879.

1 ka
0 0
70819146880.



Question Number : 16 Question Id : 70819114117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + _1'3 =-5
Xy +2x,+3x,=9
xy+3x, +sx3=t

has no solution, are :

Options :

70819146881, S=2. t=13

70819146882, S= 5

70819146883, S=> 1= 13

70819146884, 1 * 13

Question Number : 16 Question Id : 70819114117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘s’ 9° ‘Y Q 6R% FRY IRl
xy+2x,+3x,=9
xy+3x,+sxy=t

4@ Q2MARE 9FRa ARG QT ?
Options :

70819146881, S=2, t=13

70819146882, S * 5



70819146883, S=> t # 13

70819146884, 1 * 13

Question Number : 17 Question Id : 70819114118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af( \ - [ 2%
Derivative of tan ‘ 5 | with respect to sin : 3 ‘ in (1, =), is:
L 1-x" } \1+x7 )
Options :
70819146885. 1

70819146886, ~ !

70819146887.

-2

70819146888.

Question Number : 17 Question Id : 70819114118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. -1 f 2_1' A . =] / 2_1' A e
(9 2R (1, =) FER tan l | @ sin l 5 | S8 ASRRE 26T :
e 1Ex
Options :
1
70819146885.

70819146886. ~ !



70819146887. 0

2
70819146888. ~

Question Number : 18 Question Id : 70819114119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— .
— — — — —

=1.If axlaxc/+b=0, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘z

h

b

!\-J'|

—

—%
the acute anglo between a and ¢ is:

Options :

>

708191468809.

NE

70819146890.

o
q

70819146891.

5w

12
70819146892.

Question Number : 18 Question Id : 70819114119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—3 51

=1, 98 ax{axc_ +b=0,

—  —

— —
feaee a, b 19° ¢ OX6lE 49 Qld YRR ‘a‘:

‘q‘

r“.u

b

)

I\-J'|

- —

6069 a B ¢ F1U6Q g9 YERNEQ dQieliél 2leg :

Options :



NP

70819146889.

NE

70819146890.

m
3

70819146891.

s
12
70819146892.

Question Number : 19 Question Id : 70819114120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)
Options :

) -1 tan 'y
70819146893, Y~ 1 tan ‘ytce

1

y=tan "y—1+ ce tan x

70819146894.

- -1 —tan '13.;
70819146895, X tan y-ltce

70819146896.

Question Number : 19 Question Id : 70819114120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(1+y?)dx=(tan" ly—x)dy, 29ea ANQEa QRIS 26E :
(c 99 FaIF)
Options:

: -1 —tan"lg.l.r
70819146893, ¥~ | tan ytce

1 tan 'x

70819146894, Va0 ¥ 1tce

o -1 —tan_lj_;
70819146895, Y~ tan y-ltce

70819146896, ~ ot Y

Question Number : 20 Question Id : 70819114121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o . % .
The values of x, for which the vectors a = (xz 16)i+4] {xz 25)k make acute angles with
the (positive directions of) coordinate axes lie in :
Options :

70819146897, |2 —4l w14 3]

70819146898, [ =2 4) (=4 5]

70819146899, (72 —4) W (. 5)

70819146900, (>4 (=49)

Question Number : 20 Question Id : 70819114121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

10 606 ORI Qe A8 a=(x*-16)i+4j- (x**~25)k, QIEFNG W QAR YBIAR ¢ Q2
QY6RIE AYR PR :
Options :

70819146897, L => —4l < 4. 5]

70819146898, |2 4) =~ (=4, 5]

70819146899, (7> ~4) Y (4 9)

70819146900, (>4 (—49)

Mathematics Section B

Section Id : 708191501
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191781
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819114122 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



dx 1s
¥

Tj T+ coszx
0 1.|||| =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114122 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

™ 1+ cos2x
Ifﬂdx 216G -
U‘\I

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819114123 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114123 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
9tanZf +4cot?f & QIEE @Y 2EE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114124 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X 7
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819114124 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



at® w-7 =% o i
89 (1,2, 3) 019 6ad = =— 96 266 oQ i e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114125 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A
If 1033 2 Iog]( -5) and Iog;[ iy %J are in Arithmetic Progression, then the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819114125 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

!
| acIee (Q661) 656160 993, 6069 x @ Al 2ed
P

Fa | =1

i
@@ log;2, logs (25~ 5) 4" logs| 2*

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819114126 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 2y

If x2+x+1=0, then Jffx i|2 | | 2
X7

|\

Response Type : Numeric

1
P B O™ 1
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819114126 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 7 \ e a
4@ ¥ +x+1=0, 6069 J|1 = |'x2 iz L 26g

w

| 'x"’ —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114127 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

22 +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

200@ C4ICIoR, cU0RG 1@

2 +12—-4x-2y-11=0 4R 98 U6E, ARIGS 89 (4,5) 0K ¥4Q
3 1@ 00990 cH0U0 9d YRARER

A9Q9NER Qe Il 61 QY 99 49 R}@m? QUG A9 @
aee

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819114128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114128 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A8 ¥R G091 2IRgR6a FuAIR 8 9204 (NIGRIRY) 6 AR 15 29 ¥6° 6AAIGEE QFq Ard 117
@4, 6069 Qlae Al QeI 9AR ____ 2ef

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114129 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c)=1,
then |atb+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819114129 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A6eae @9 (1,2,6),(2,5,7) f1d 620 66 @949l 6 adeq -y +2=15 96 A7 491 AAGHER

el (eIt a;i-hl,- tcz+d=0 269 | 93 a, b, ¢, d GLQ°6 225, UOAR 6271670 GAT ARG
wiwe (a), |b|, [c)=1, 6069 [a+b+c+d Q@ eoQE
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e |

—_
1]

-‘ of the equation 4sin®y —8sinx +3=0

3
The number of real solutions in the interval { e

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114131 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1

] 10
Let Al, Az, A3, ....... be an increasing geometric progression. If T4 \_b

E and

AA,=44], then 3(A,+A,) is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819114131 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) ohe g
AGERA Ay, Ay, Agy ... <@ of qeaian (go61) 6961108 3 ' A 0 9T Asp=441,

6062 3(A,+A,) QIR 266
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Aptitude Test
SectionId: 708191502
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191782
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the “‘UNESCO" ?
Options :
70819146911, United Nations Educational, Scientific & Cultural Organization.

70819146912, United Nations Educational Sc-curit}-' Cultural Drgani_zatinn.

70819146913, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819146914.



Question Number : 31 Question Id : 70819114132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FORYe g 6Rus genearn 4dqa (gaad) 2ee ?
Options :

20819146011, ‘AFIAEER 62Q7 IRERARIA, AGETR I8 AASAIN LAGINAERAR

70819146912, 2FIBECQ 6747 IREIARIR IFAST FNSAUR AAGFREHAR

0819146913, AFIGE6Q 67A] NIAGIY ARE WG, AQEINAERAR

QIREEE 6RAR IRERURIR, AEEERR I8 GRSAIR ZNGININEEAR
70819146014, LTINETR 6RAR IGENAAR, AQ @ I8 AREAIR \

Question Number : 32 Question Id : 70819114133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819146915, D), (ID-(@), {D-(d), (IV)-(c)

20819146916, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819146917, V@) (ID-(b), (ID)-(c), (IV)-(d)



20819146918, OBy (Ha), (<), EV)L{d)

Question Number : 32 Question Id : 70819114133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QIR - 1 § QIARI - 11 980 A2 |
QIARI - 1 QIR - 1

(I) 99 2 679K, (a)
(I) TR GIge, casdasizal (b)
(II) 696gIRIq S1BIQ (c)
(IV) QoQIea (d)

Options :



70819146915, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819146916, (), (ID-(d), (IT)~(a), (V)-(b)

0819146017, D@, (I)-B), ([-<), AV)-(d)

20819146918, DD (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819114134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819146919, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

70819146920, D-(b), (ID-(d), (I)-(c), (TV)-(a)

081914601, 01O, (D-@), (ID)-(b), (V)-(d)

20819146922, V(B) (I)-@), (IH~(d), (IV)-(c)

Question Number : 33 Question Id : 70819114134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIARI - 1 @ SIARI - II 986 fQiz |

IR - 1 eImel - I1
() @G (a) @62 eAcAIGIm 2R
(I @ (b) Q@I LA
(1) aeega daql (c) @aa1 agee
(IV) 6RIR@Io (d) QMR MR
Options :

70819146919, W(P) (I)-(c), (IID-(d), (IV)-(a)

70819146920, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819146921, D), ()-(a), (D)-(b), (IV)-(d)

70819146922. (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819146923, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819146924, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819146925, 1) (D-(a), (ID-(d), (IV)-(b)

70819146926, V) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
QIRRI - 1 @ SRS - II 996 fqI2 |
elaal - 1

O g d

() 2R A9

() Qe gL

(IV) @exid a&e
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70819146925, M9 ()-(@). (IID-(d), (IV)-(b)

70819146926, O-(P) (1)-@). ()-(c), (TV)«(d)

Question Number : 35 Question Id : 70819114136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819146927. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819146928, (D-(¢), (I)-(d), (ID)-(a), (TV)-(b)

20819146929, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819146930, (D-(P), (I)-(d), (M)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819114136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIARI - 1 § QIR - 11 996 Az |

IR - 1 eIme1 - 11
() Q99 QFEaI (a) QR
(II) Q8 aea (b) AL
(I11) @éhﬂt ol (c) CRexIq
(IV) 24 qee (d) QR
Options :

70819146927. (D-(c), (I0)-(d), (IID)-(b), (IV)-(a)

70819146928, (D-(¢), (I)-(d), (ID)-(a), (IV)-(b)

20819146929, (D-(d), (ID)-(b), (II)-(c), (IV)-(a)

70819146930, (D-(b), (I)-(d), (I)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819146931. (D-(a), (IT)-(d), (D-(b), (IV)-(c)

20819146932, (D-(d), (I)-(c), (ID)-(a), (IV)-(b)

70819146933, (D-(d), (ID-(c), ID)-(b), (IV)-(a)



20819146934, @ @-0), D)), (V)<

Question Number : 36 Question Id : 70819114137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IR - I § QIR - 11 996 A2 |

QIR - 1 QIR - 11
(I) 6720769 Q6 (a) 2RQUAD
(I da ed (b) ERIANG
(II) coIRERIEl 96 € @
(IV) ep@eaqn Q6 (d) eQIuge

QORge 9ag fkg 0] 288 QT 6Re :

Options :
20819146931, (D-(@), (I-(d), (LD)-(b), (IV)-(c)

70819146932, (D-(d), (I)-(c), (ID-(a), (IV)-(b)

20819146933, D), (1D-(c), ([ID)-(b), (V)-(a)

20819146934, @ @-0), {)-@), (V)

Question Number : 37 Question Id : 70819114138 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819146935, B-V. Doshi

70819146936. Arundhati Roy



20819146937, Revali Kamat

70819146938, Dimal Patel

Question Number : 37 Question Id : 70819114138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘0e, 2T ga Aerq’ 9@d 6RR SIQTIY LA QIQ 6R¢ILIRG ?
Options :

70819146935, -8 691EI

70819146936, Cdn ol o

70819146937, SeME1 @IFIE,

70819146938, =™ H6ER

Question Number : 38 Question Id : 70819114139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819146939, “uiarat

70819146940, 'Vest Bengal

70819146941, [amil Nadu



70819146942, Rajasthan

Question Number : 38 Question Id : 70819114139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“gealgl’ 9@ gela ¢l Blee QIfl ARINSEs cagidd -

Options :

70819146939, AW

70819146940, 879G

70819146941, O MAIE

70819146942, @8I

Question Number : 39 Question Id : 70819114140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819146944. South-East side

70819146945, North side

70819146946. South-West side



Question Number : 39 Question Id : 70819114140 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIR01E RUFILIETH6R 6aw @alq 6AIgM QIg gead Q6a ?

Options :

70819146943, “&el-dsld i

oFa-99 aKg
70819146944, e

70819146945, e 99

70819146946, o - USd €Y

Question Number : 40 Question Id : 70819114141 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options:
70819146947. Bharat Bhavan in Bhopal

20819146948 LIC Buﬂding in Delhi

70819146949. Charminar in Hyderabad

T & ; 9 - i
20819146950. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819114141 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FORYO FrRIG 69 6RI0IF SINGER FERIFEIR 900 FRIF QIBI] @61 ?
Options :

20819146947, 106 99R, CRITIR

70819146948, Jal.2lw.d 6I0I, @)l

70819146949, ° @7, FEFIQlT

70819146950. BEGCIEI 6FIECIG IR, 6RIN I

Question Number : 41 Question Id : 70819114142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
20819146951 420 x 590 (mm x mm)

70819146952, 20594 (mm><mm)

70819146953, 207 X420 (mm> mm)

70819146954. 420 x 592 (mm X mm)

Question Number : 41 Question Id : 70819114142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2 e G0 219K 6R60 ?
Options :
20819146951 420 x 590 (mm x mm)

70819146952, 20594 (mm>mm)

70819146953, 297 420 (mm x mm)

70819146954. 420 x 592 (mm X mm)

Question Number : 42 Question Id : 70819114143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819146955, Chittor fort

70819146956. Jaigarh fort

70819146957. Bhangarh fort

70819146958, ~xmer fort

Question Number : 42 Question Id : 70819114143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
90 22 FORYe g 6aa 96 990 960 ?



Options :

70819146955, °oe®

70819146956, *2o¢ 48

70819146957, ° =¢ @9

70819146958. Oloas, 49

Question Number : 43 Question Id : 70819114144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819146959, Samjay Puri

70819146960, ¥ ikram Lall

70819146961, Ashok Lall

70819146962, = “Ompura

Question Number : 43 Question Id : 70819114144 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FaRee frig 6aa QIRIa (21R6eR) gl agauIf FRea a9 G216 @Rgs ?

Options :

70819146959, & we 8l



70819146960, =3¢ &l

70819146967, o8& WG

d. eQinigal
70819146962.

Question Number : 44 Question Id : 70819114145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Volume Zero” Documentary is on which Architect ?
Options :

70819146963, Charles Correa
70819146964. Richard Mier

70819146965, Jasbir Sachdev

70819146966, Ramit Sabliki

Question Number : 44 Question Id : 70819114145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘ARIF @6Ql’ gINIER 9RF90 6ew TG AdeR ?
Options :

70819146963, /"4 SaGlT

70819146964, ©1°1€ 1T,



70819146965. ARSI R

70819146966, 2&6 A&

Question Number : 45 Question Id : 70819114146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :

Options :

Climate change
70819146967.

70819146968, Clobal warming

70819146960. Sustainable development

70819146970, Smart city

Question Number : 45 Question Id : 70819114146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

“062€I - 21’ 9@ 6AFGIFIAI AL AN AR :
Options :

70819146967, Tl dal9ae

70819146968, 718714 @QId 9F (QEIaR)

70819146969, 2@ @IS



70819146970, 4° 990

Question Number : 46 Question Id : 70819114147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options:

70819146971. Karnataka

70819146972, Orissa

70819146973, Maharashtra

70819146974. Uttar Pradesh

Question Number : 46 Question Id : 70819114147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QRIgEgEa R0a 6Ru AleYen BREe ?

Options:

70819146971, T2

70819146972, 2¢9!

R
70819146973, ¥

70819146974, @6 9694



Question Number : 47 Question Id : 70819114148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819146975, North

70819146976, SCuth

70819146977, Cast

70819146978, West

Question Number : 47 Question Id : 70819114148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QHd CRIRIEER SIATAR UEAIR 6QR 6lg 26T ?

Options :

70819146975, “@%

70819146976, 994

70819146977, 4%

70819146978. i



Question Number : 48 Question Id : 70819114149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819146979, B+V- Doshi

70819146980, L-aurie Baker

70819146981, & Rewal

70819146982, ‘*chyut Kanvinde

Question Number : 48 Question Id : 70819114149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QR gaf URe1a QZRIQ deea gaia 2018 6a AlRgem ?
Options :

70819146979, - 69181

70819146980, %6 6960

70819146981, & Sa9lGl

ZIgYe QIEEeR
70819146982. *

Question Number : 49 Question Id : 70819114150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :
Options :

70819146983, Bengalurm
70819146984, banaras

70819146985, bengal

70819146986, Bari

Question Number : 49 Question Id : 70819114150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘oFeal’ 9490 6aw0Ig 98 62IaE ?

Options :

[la fala |
70819146983.

70819146984, =794

70819146985, =™

70819146986, =@

Question Number : 50 Question Id : 70819114151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?



Options :

70819146987. Laurie Baker

70819146988, Louis Kahn

70819146989, utyen

70819146990, Le Corbusier

Question Number : 50 Question Id : 70819114151 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
219216971 -22NQI9ea /g, FINY0 6 LR PN BUR FRIALE ?
Options :
70819146987, =& 69@4

70819146988, L8 @4

70819146989, Lo 1%

70819146990, ™ SRR

Question Number : 51 Question Id : 70819114152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

()

70819146991, 14

70819146992, 13

(=1

70819146993, 12

—

70819146994, 18

Question Number : 51 Question Id : 70819114152 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3¢ Q6 6RERIT 9delq A8 ?

Options :
4

(]

70819146991.

=l

70819146992, 13

5

(=1

70819146993.

8

—

70819146994.



Question Number : 52 Question Id : 70819114153 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819146995.
I| [
I
I
70819146996.
-
_I .-
| |-
70819146997.

70819146998.



Question Number : 52 Question Id : 70819114153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FORge 3-90g 92Q G690 209 Qier 929 PR @8 cdieda QUKL 8 | A0]ER <UD |

Options :

70819146995.

70819146996.

70819146997.



70819146998.

Question Number : 53 Question Id : 70819114154 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819146999.

70819147000.



70819147001.

70819147002.

Question Number : 53 Question Id : 70819114154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2960 1@ 9g0 208 IR Q8q 24INIER | o1a PULRASI §9 AR A0} T 98a 09
qag o212 (Q1g) |

— KX 0
[

Options :

70819146999.




70819147000.
70819147001.
70819147002.

Question Number : 54 Question Id : 70819114155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options:

70819147003.




70819147004.

70819147005.

70819147006.

Question Number : 54 Question Id : 70819114155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9998 990 008 S99 QaNEq adiad | aen 59 AR A4IRERI 618 @6 AgIHT A0R, RERIRE
G912 (Q1g) |

pr
I

Options:

70819147003.

70819147004.



70819147005.

70819147006.

Question Number : 55 Question Id : 70819114156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819147007.

70819147008.

708191470009.



70819147010.

Question Number : 55 Question Id : 70819114156 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9950 920 207 SI6R QaNEq 241e8 | aeR 3 A6 GRSl 918 36 Al A0, YRERIRE
QIg |

o= | ]

T

Options :

70819147007.

70819147008.

708191470009.



70819147010.

Question Number : 56 Question Id : 70819114157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in same size and direction.
Select correct one.

Options :

70819147011. 5
70819147012. D
70819147013. ;

70819147014.



Question Number : 56 Question Id : 70819114157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q¢ 9499 fa6a 69T AAIR ZIRIQ 6 99 944 Qe 99 A6 @8 | A0REY QL |

Options :
70819147011. >
70819147012. D
70819147013. v
70819147014. ﬁ

Question Number : 57 Question Id : 70819114158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :



70819147015.

70819147017.

W
70819147016. Q
0
N

70819147018.

Question Number : 57 Question Id : 70819114158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@7 9498 fu6a 6aIE QAR ZIRIa 8 @9 94 QER 99 A0 oRE | A0REq I |

Options :

70819147015.

70819147017.

L
70819147016. Q
0
N

70819147018.



Question Number : 58 Question Id : 70819114159 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the prohlom t’igure in same size and direction.
Select the correct one.

Options:

70819147019.

70819147021.

N
orsnrs. C

A

>

70819147022.

Question Number : 58 Question Id : 70819114159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q¢ 9499 frlen 66T QRIR ZIRIR 6 99 984 Qe 09 A0 AF8 | 40RTq Qg |

Options :



70819147019.

70819147021.

N
rrsrrs. C

A

>

70819147022.

Question Number : 59 Question Id : 70819114160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the [ ollowing answer i’igures is hidden in the pmhlc-m figurc- in same size and direction.
Select the correct one.

Options :
70819147023. D
70819147024. D
70819147025. O
70819147026. ﬂ



Question Number : 59 Question Id : 70819114160 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q¢ g95Q F6a 69T QAR 2IRIQ B @3¢ G99 Qe 98 A% AET | A0REY QUL |

Options :
70819147023. D
70819147024. D
70819147025. O
70819147026. ﬂ

Question Number : 60 Question Id : 70819114161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

[

1]

Options:



70819147027.

70819147028.

70819147029.

arf e )

70819147030.

Question Number : 60 Question Id : 70819114161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X-X 2Q9I9 690 90 99¢ g9oea a0 @dda goda 2ee ?

X
L
[]
X
Options :
]
70819147027.
[l
]
70819147028.
L
1
70819147029.

70819147030.



Question Number : 61 Question Id : 70819114162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

N\
A
N1

70819147033.



P,

)
V

oN

70819147034.

Question Number : 61 Question Id : 70819114162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X-X 2egIg 690 988 996 g95ee 40 edd godna 2ee ?

X

s

Options :

70819147031.

70819147032.



(e
3

A
\
70819147034.

Question Number : 62 Question Id : 70819114163 Question Type : MCQ Option Shuffling : Yes

¥,

70819147033.

N2

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

/
N X

Options :

70819147035.



s s

P s g

70819147036.

/
PR

>

70819147037.

N
V%

N4
/AN

70819147038.

Question Number : 62 Question Id : 70819114163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X-X 2909 698 906 096 94oea dA0e @da goaa 2ee ?

/// X
N
/
N X
Options:
N
NV
N\
70819147035. f/
N
NV
N
70819147036. f/
N
P
N/
70819147037.

S/

N4
/AN

70819147038.



Question Number : 63 Question Id : 70819114164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the pmh[em t’igure ? Select the

correct one.
?
A

Options :

70819147039.

70819147040.

ar
S

70819147041.

70819147042. |

Question Number : 63 Question Id : 70819114164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



609 Q80 097 QRN AW 99Fe €09 a°gd @qUF ?

Al

Options :

74
708191470309.
70819147040.
70819147041. |
70819147042.

Question Number : 64 Question Id : 70819114165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819147043.

70819147044.

70819147045.

70819147046.

Question Number : 64 Question Id : 70819114165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-G010 597 61T 998 98N] 24Ia8 | aae 59 fUER *dINel 918 G gl A0]
QeNCq g |

4

Options :

70819147043.

70819147044.

70819147045.

70819147046.

Question Number : 65 Question Id : 70819114166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819147047.

70819147048.

70819147049.

70819147050.



Question Number : 65 Question Id : 70819114166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3-Q019 598 6615 990 QaIEq @dIed | AR 09 AU @¥IegQ 61a @d Al A0
QENEQ QIg |

?

/i

Options :

70819147047.

70819147048.

70819147049.

70819147050.



Question Number : 66 Question Id : 70819114167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819147051.

[ ]

70819147052.



70819147053.

70819147054.

Question Number : 66 Question Id : 70819114167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3019 966 6015 920 QY 626N | B8R §Q FIUER NI O1R Bal AEIe! A0 Ve I8 |

/

Options :

70819147051.



70819147052.

70819147053.

70819147054.

Question Number : 67 Question Id : 70819114168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819147055.

70819147056.



70819147057.

70819147058.

Question Number : 67 Question Id : 70819114168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-9010 590 6815 920 Q9 69U | 98N ] AR PFINAR 18 B8 2GAI DR, QENE QIp |

/I

Options :

70819147055.

70819147056.

70819147057.



70819147058.

Question Number : 68 Question Id : 70819114169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819147059.

70819147060.

70819147061.



70819147062.

Question Number : 68 Question Id : 70819114169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-2010 590 6615 99 Q8N 6AHN | BAA 59 AR IR F1Q B 2gaI Q0K Q840 QI8 |

/

Options :

70819147059.

70819147060.

70819147061.

70819147062.



Question Number : 69 Question Id : 70819114170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options:

70819147063.

70819147064.

70819147065.



70819147066.

Question Number : 69 Question Id : 70819114170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-Q010 590 661G Q2R Q6N 6N | KRR B AR 4R 18 B 2gaIet A0R QaWE QI |

i

Options :

70819147063.

70819147064.

70819147065.



70819147066.

Question Number : 70 Question Id : 70819114171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819147067. '

70819147068.

70819147069.

70819147070.



Question Number : 70 Question Id : 70819114171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3016 5% 601G 990 Q6 62U | AR BQ FER P6IRAGl 918 39 AgEIE! A0, aNE QI8 |

/ﬂ

Options :

70819147067, '

70819147068.

70819147069.

70819147070.



Question Number : 71 Question Id : 70819114172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/l

Options:

70819147071. —I

70819147072. l

70819147073.

70819147074.



Question Number : 71 Question Id : 70819114172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3010 995 6015 920 Q8Y 69U | AR B9 FER IR 18 B gAI QDR Q8NG QI8 |

/1

Options:

70819147071. —I

70819147072. |

70819147073.

70819147074.

Question Number : 72 Question Id : 70819114173 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options:

70819147075.
70819147076.
70819147077.

70819147078.



Question Number : 72 Question Id : 70819114173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3-3010 67 6RITN A9Q 994 62U | B8R B AR PHIRAGI 915 @8 BgaIR! Q0] QG QI8 |

y

/

Options:

70819147075.
70819147076.
70819147077.

70819147078.



Question Number : 73 Question Id : 70819114174 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819147079. l l

L
70819147080. | |
70819147081. | l

70819147082. |



Question Number : 73 Question Id : 70819114174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-3018 590 66ITN 920 L8N 6RUN | BRR B AR A8IRARI ©18 B AT A0 QENG QI8 |

Options :

|
70819147079. l l

|
70819147080. | |
70819147081. | I

||
70819147082. |

Question Number : 74 Question Id : 70819114175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819147083.

70819147084.

70819147085.

70819147086.

Question Number : 74 Question Id : 70819114175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-3010 567 60IB 999 Q8N 69UN | 9RA 3G FU6R HIRAR 718 B9 Al A0R, QNG QIg |

I

Options :

70819147083.

70819147084.

70819147085.

70819147086.

Question Number : 75 Question Id : 70819114176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819147087.

70819147088.

708191470809.

70819147090.

Question Number : 75 Question Id : 70819114176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-0010 TgF 69T 920 Q84 696N | BRe B9 Mg A0R] d1I9ady T80 g |

Options :

70819147087.

70819147088.

70819147089.

70819147090.

Question Number : 76 Question Id : 70819114177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819147091.

70819147092.

70819147093.

70819147094.

Question Number : 76 Question Id : 70819114177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-Q01a 590 60IF9 990 Q94 62 | 99R 59 kg A0Q S1dady §9F QI8 |

Options :

70819147091.



70819147092.

70819147093.

70819147094.

Question Number : 77 Question Id : 70819114178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819147095.

70819147096.



=

70819147097.

=

70819147098.

Question Number : 77 Question Id : 70819114178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-9e19 996 6915 920 Qa 6N | QAR 58 Ag A0R gIdes 590 QIS |

Options :

70819147095.

70819147096.




=

70819147097.

=

70819147098.

Question Number : 78 Question Id : 70819114179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819147099, () and (B)

(B) and (C)
70819147100.

70819147107, (©) and (D)

70819147102, (P) and (4)

Question Number : 78 Question Id : 70819114179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

QONYO 980 0g 9ER Fg @F QAR QI g9l ATRR Aeq T |

(A) (B)
(C) (D)
Options :

70819147099, () and (B)

(B) and (C)
70819147100.

708191471017, (©) and (D)

70819147102, (D) and (4)

Question Number : 79 Question Id : 70819114180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figuros Iooking in the direction of arrow.

v v— U
¥ il
Options :

Il
70819147103. |-|-



70819147104.

70819147105.

70819147106.

Question Number : 79 Question Id : 70819114180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

095a8 2ga a1deauq 6iad | wan 59 kR TdIegel o1 @6 ARAIA A0R YRRLRE]
59¢ @Q |

Options :

Il
70819147103. |-|-

70819147104.

70819147105.

70819147106.



Question Number : 80 Question Id : 70819114181 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819147107.

70819147108.

2 2 4

708191471009.



70819147110.

Question Number : 80 Question Id : 70819114181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

94500 oga a1dQau @died | @eR 59 AR @diedql o @6 2QEId A0R IREEARE

/N

R

Options :

70819147107.

70819147108.



708191471009.

AN
/4

70819147110.

Drawing
SectionId: 708191503
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191783
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819114182 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
teduﬁques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819114182 Question Type : SUBJECTIVE

Correct Marks : 50
7% 090 2RI 6A6TIAT ARl ¥° MRl ARQIR 4R (66RAR) LIk @R g9R goeda
2IRaIeR 69 Ue6 @a |

2]
606Rad @Rl ¥e° UGl RAQIR 6AER (60RFR) el @R 95edR 9Eed 19° 2RQR @
UGES 6gF A2NEA AR A'AORI 40 8 |




Question Number : 82 Question Id : 70819114183 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE 5 cmx2 cmx 2 cm, 4 Nos.

Use ‘Cool Colorscheme” for compnsititm

Question Number : 82 Question Id : 70819114183 Question Type : SUBJECTIVE
Correct Marks : 50

QF F9IQ 9F 9@ 9F 99Q Q9 LR AR |
22|
@ERYe Q8 gelew e9q 6aa 6RIE QEe 3-3¢14 e @9 |
(i) g A : UK 2cmx2 cm X 2 cm, 5 Nos.
(i) 99 B:qUXRXS5cmx2cmx2cm, 4 Nos.
(9n @6 4 MNP 99)



